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10. Which is the latest party in India to become a National Party?

a. AGP b. MNF

c. AAP d. DMK
11. Who is regarded as the father of Political Science?

a. Herodotus b. Aristotle

c. Plato d. Rousseau

12. Who wrote the book ‘Politics’?
a. Socrates b. Plato
c. Aristotle d. Rousseau

13. Traditional Approaches give stress on:

a. Values b. Facls
¢. Objectivity d. Precision
14. Who among the following strongly said that “Man is a Political Animal”?
a. Socrates b. Plato
c. Aristotle d. None of the Above.
15. Political science stresses the study of:
a. Government b. State
c. Power d. All the above

16.  Which among these elements of State was missing from British India?

a. Territory b. Sovereignty

¢. Population d. None of the above
17. The element of can be categorized as external & internal.

a. Sovereignty b. Population

c. Territory d. Government

18. Which country among them does not enjoy universal ‘International Recognition’ in
world politics?
a. India b. Australia
c. Pakistan d. Palestine

19. Which theory of state believes that the State is the creation of God?

a. Divine Origin Theory b. Social Contract Theory
¢. Feminist Theory d. Marxist Theory
20. Which country among them is totally dependent on market economy for its economic
functioning?
a. Cuba b. China
c. USA d. North Korea
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[Descrigtivcj

Time : 2 Hr. 30 Mins.

[ Answer question no.1 & any four (4) from the rest ]

Define Political Science. Discuss its scope.

Discuss the Traditional Approaches of Political Science.
Discuss in detaifs the various elements of the State.
Write an essay on the Social Contract Theory of state.
Define Liberty. Discuss its types.

What are Rights? Discuss its various types.

Discuss the various types of Executives which can be found in various
forms of governments.

Write about the various features of Indian party system.
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